Contract 25-20 Storm Sewer I	aterals / Variou	is Locations (#9656257)		1				
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City o								
Solicitori Soliitosii (11) City o								
Bid Opening: 05/19/2025 11:0	0 AM CDT							
					Calnin &	Goss. LLC	Vinton Constru	ction Company
					505 West Edg			·····
					Appleton,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1	Item coue	nem 2 comption	Conn	Quantity	ChitThte	\$317,282.51	enin Thee	\$368,845.00
		Clearing; complete as				<i>\$017,202.01</i>		\$000,010100
	1011	specified	Inch Diameter	78.00	\$36.02	\$2,809.56	\$30.00	\$2,340.00
		Grubbing; complete as			++++++	+_/	400000	+_)+ -++++
	1021	specified	Inch Diameter	78.00	\$36.02	\$2,809.56	\$30.00	\$2,340.00
		Mobilization; complete as				. ,		. ,
	1050	specified	Lump Sum	1.00	\$32,988.13	\$32,988.13	\$34,000.00	\$34,000.00
		Removing concrete and	1		. ,			· /
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	1,260.00	\$3.23	\$4,069.80	\$2.00	\$2,520.00
		7" concrete pavement						
		removal and replacement;						
		including sawing;						
		pavement ties; dowel						
		bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1308	complete as specified	Square Yards	330.00	\$137.18	\$45,269.40	\$185.00	\$61,050.00
		Turf restoration;						
	1370	complete as specified	Square Yards	500.00	\$11.19	\$5,595.00	\$14.00	\$7,000.00
		30" concrete curb and						
		gutter removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1448		Linear Feet	28.00	\$107.68	\$3,015.04	\$95.00	\$2,660.00
	1440	complete as specified	Lineal reet	20.00	\$107.00	φ 3 ,013.04	\$7 3. 00	φ2,000.00
		4" concrete sidewalk with						
		3" CABC and grading;						
	1500	complete as specified	Square Feet	1,075.00	\$11.19	\$12,029.25	\$15.00	\$16,125.00
	1000	6" concrete sidewalk/	oquare i cer	1,07 5.00	ψ11.19	ψ12,029.2J	φ13.00	ψ10,123.00
		driveway/ramp with 3"						
		CABC and grading;						
	1510	complete as specified	Square Feet	185.00	\$11.89	\$2,199.65	\$16.00	\$2,960.00

Contract 25-20 Storm Sewer	r Laterals / Variou	us Locations (#9656257)						
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
somenon connosn my eng								
Bid Opening: 05/19/2025 11	1.00 AM CDT							
biu opening. 00/19/2020 11								
					Calnin & G		Vinton Construct	ion Company
					505 West Edger		vinton construct	
					8			
Section Title	Item Code	Item Description	UofM	Quantity	Appleton, V Unit Price	Extension	Unit Price	Extension
Section The	Item Code	Item Description	UOIM	Quantity	Unit Frice	Extension	Unit Frice	Extension
		No. 4 reinforcing rods -						
		0						
	1550	deformed; epoxy-coated;		(15.00)	¢0.45	#1 FOC 75	#2 00	#1 0 00 0
	1550	complete as specified Drilled No. 4 sidewalk tie	Linear Feet	615.00	\$2.45	\$1,506.75	\$2.00	\$1,230.0
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	88.00	\$13.98	\$1,230.24	\$6.00	\$528.0
		Locate existing property						
		monuments; complete as						
	1650	specified	Each	2.00	\$349.62	\$699.24	\$500.00	\$1,000.0
		Replace existing property						
		monuments; complete as						
	1652	specified	Each	2.00	\$559.39	\$1,118.78	\$10.00	\$20.00
		D 1 1						
		Remove and replace						
		HMA pavement;						
		including sawing; fine						
		grading; turf restoration;						
		and traffic control;						
	1904	complete as specified	Square Yards	188.00	\$91.45	\$17,192.60	\$70.00	\$13,160.0
		Furnish and install 6"						
		storm sewer; complete as						
	2000	specified	Linear Feet	40.00	\$113.41	\$4,536.40	\$67.00	\$2,680.0
		Furnish and install 8"						
		storm sewer; complete as						
	2001	specified	Linear Feet	85.00	\$121.20	\$10,302.00	\$68.00	\$5,780.0
		Furnish and install 24"						
		RCP Class III storm						
		sewer; complete as						
	2016	specified	Linear Feet	34.00	\$239.55	\$8,144.70	\$216.00	\$7,344.0
		Furnish and install 24"						
		RCP Class III apron						
		endwall with joint ties;						
	2144	complete as specified	Each	1.00	\$3,341.94	\$3,341.94	\$7,441.00	\$7,441.0
		Furnish and install	-		****			. ,
		standard storm sewer						
		manhole (4' diameter);						
	2201	complete as specified	Vertical Feet	6.00	\$1,009.64	\$6,057.84	\$925.00	\$5,550.00

Contract 25-20 Storm Sewer I	aterals / Variou	s Locations (#9656257)						
Owner: Oshkosh WI, City of	1							
Solicitor: Oshkosh WI, City o								
Solicitol. Oslikosli VI, City C								
Bid Opening: 05/19/2025 11:0								
bid Opening. 03/13/2023 11.0				ł				
					Calnin &	Case LLC	Vinton Constru	ation Company
							vinton Constitu	
					505 West Edg			
	I	K D			Appleton,		II '' D '	.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 6"						
	2 (00	storm sewer lateral;		(00.00	¢11= 10		<i>t</i>	#00 ==0 00
	2400	complete as specified	Linear Feet	680.00	\$115.48	\$78,526.40	\$146.40	\$99,552.00
		From the set of the state of the						
		Furnish and install storm						
		sewer marker balls;		44.00	AFR 44	** ** *	* (2 00	to 500 00
	2404	complete as specified	Each	44.00	\$53.11	\$2,336.84	\$62.00	\$2,728.00
		Furnish and install storm						
		sewer clay dams;			#100.00	#2 022 20	****	\$< 0 10 00
	2406	complete as specified	Each	24.00	\$122.22	\$2,933.28	\$288.00	\$6,912.00
		Furnish and install storm						
		sewer lateral inlet;						
	2408	complete as specified	Each	19.00	\$1,390.21	\$26,413.99	\$2,345.00	\$44,555.00
		Storm lateral inlet						
		adjustments; complete as						
	2414	specified	Each	6.00	\$227.37	\$1,364.22	\$645.00	\$3,870.00
		Cleanouts; complete as						
	2418	specified	Each	8.00	\$654.55	\$5,236.40	\$779.00	\$6,232.00
		From the install maintain						
		Furnish; install; maintain;						
		and remove Type D						
		modified inlet protection;						
	2508	complete as specified	Each	100.00	\$114.67	\$11,467.00	\$75.00	\$7,500.00
		r						
		Furnish; install; maintain;						
	0717	and remove stone bag;		100.00	\$10 F0	A1 050 00	* 11.00	t1 100 00
	2516	complete as specified	Each	100.00	\$19.58	\$1,958.00	\$11.00	\$1,100.00
		Furnish; install; maintain;						
		and remove 12" diameter						
	2510	sediment logs; complete	Lines E. 1	20.00	#1 / - 0	#005 /0		#1 0 = 00
	2518	as specified	Linear Feet	20.00	\$16.78	\$335.60	\$6.25	\$125.00
		Furnish; install; maintain;						
		and remove turbidity						
	2524	barrier; complete as	E . 1	1.00	#4 10F 10	#4 105 10		# 3 F 00 00
	2526	specified Furnish and install Class	Each	1.00	\$4,195.42	\$4,195.42	\$2,500.00	\$2,500.00
		I; Urban; Type A erosion						
		control mat; complete as			±		±	
	2632	specified	Square Yards	75.00	\$4.13	\$309.75	\$1.40	\$105.00

Contract 25-20 Storm Sewe	r Laterals / Variou	is Locations (#9656257)						
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City	y of							
Bid Opening: 05/19/2025 11	1:00 AM CDT							
					Calnin &	,	Vinton Constru	ction Company
					505 West Edg			
					Appleton,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install						
		medium rip-rap with						
		filter fabric; complete as						
	2648	specified	Square Yards	10.00	\$71.24	\$712.40	\$105.00	\$1,050.00
		Connect to existing storm						
		sewer main; complete as						
	2850	specified	Each	1.00	\$488.86	\$488.86	\$1,564.00	\$1,564.00
		Connect lateral to existing						
		storm sewer main;						
	2854	complete as specified	Each	17.00	\$640.56	\$10,889.52	\$672.00	\$11,424.00
	2634	Connect to existing storm	Each	17.00	\$040.30	\$10,009.52	\$072.00	\$11,424.00
		sewer inlet; complete as						
	2858	specified	Each	3.00	\$501.03	\$1,503.09	\$550.00	\$1,650.00
	2000	Storm sewer utility line	Luch	0.00	4001.00	ψ1,000.07	4000.00	\$1,000.00
		opening (ULO); complete						
	2914	as specified	Each	2.00	\$923.18	\$1,846.36	\$500.00	\$1,000.00
		Excavation special		1		. ,		. ,
		(storm); complete as						
	2950	specified	Tons	50.00	\$36.99	\$1,849.50	\$25.00	\$1,250.00
Bid Total:						\$317,282.51		\$368,845.00

Contract 25-20 Storm Sewer L	aterals / Variou	us Locations (#9656257)		Г				
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City o	f							
Bid Opening: 05/19/2025 11:00	AM CDT							
				1 1				
				1 1	Carl Bowers & So	ns Const. Co., Inc.	DE GRO	OT, INC.
Section Title	Item Code	Itom Description	UofM	Overtite	Unit Price	Extension	Unit Price	Extension
	Item Code	Item Description	UorM	Quantity	Unit Price	Extension \$410,261.51	Unit Price	
Section 1		Clearing; complete as				\$410,201.51		\$618,233.64
	1011	specified	Inch Diameter	78.00	\$84.00	\$6,552.00	\$85.85	\$6,696.30
	1011	Grubbing; complete as	Inch Diameter	78.00	\$04.00	\$0,552.00	\$05.05	\$0,090.30
	1021	specified	Inch Diameter	78.00	\$21.00	\$1,638.00	\$25.25	\$1,969.50
	1021	Mobilization; complete as	Inch Diuncter	70.00	φ21.00	\$1,000,000	420.20	\$1,705,100
	1050	specified	Lump Sum	1.00	\$110,000.00	\$110,000.00	\$73,225.00	\$73,225.00
		Removing concrete and	F =		+)++++++++++++++++++++++++++++++++++	+,	<i></i>	+· ·/····
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	1,260.00	\$5.00	\$6,300.00	\$9.09	\$11,453.40
		7" concrete pavement						
		removal and replacement;						
		including sawing;						
		pavement ties; dowel						
		bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
	1200	and traffic control;		220.00	#140.00	# 4 C 2 00 00	#1E0 E0	#FE 20E (0
	1308	complete as specified	Square Yards	330.00	\$140.00	\$46,200.00	\$173.72	\$57,327.60
	1370	Turf restoration; complete as specified	Square Yards	500.00	\$12.00	\$6,000.00	\$20.20	\$10,100.00
			1			. ,		· ,
		30" concrete curb and						
		gutter removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
	1440	and traffic control;	Lines P. 1			#0 00F 00	#00 f0	#0 /1/ 01
	1448	complete as specified	Linear Feet	28.00	\$78.75	\$2,205.00	\$93.43	\$2,616.04
		4" concrete sidewalk with						
		3" CABC and grading;						
	1500	complete as specified	Square Feet	1,075.00	\$12.00	\$12,900.00	\$21.21	\$22,800.75
	1300	6" concrete sidewalk/	Square Peer	1,075.00	φ12.00	φ12,200.00	φ21.21	φ22,600.75
		driveway/ramp with 3"						
		CABC and grading;						
	1510	complete as specified	Square Feet	185.00	\$13.00	\$2,405.00	\$22.32	\$4,129.20

Contract 25-20 Storm Sewe	er Laterals / Variou	us Locations (#9656257)						
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, Cit								
	, , ,							
Bid Opening: 05/19/2025 1	1:00 AM CDT							
biu opening. 00/19/2020 1								
				ł – – ł –	Carl Bowers & Sons	Const Co. Inc	DE GROO	TINC
					Carl Dowers & Johns	Const. Co., me.	DEGROO	1, INC.
					IL 'S D '	F (U '' D '	F 4 1
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		No. 4 reinforcing rods -						
		deformed; epoxy-coated;						
	1550		The second second	(15.00	¢2 10	¢1 201 50	#2.02	¢1.973.4
	1550	complete as specified	Linear Feet	615.00	\$2.10	\$1,291.50	\$3.03	\$1,863.4
		Drilled No. 4 sidewalk tie						
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	88.00	\$11.00	\$968.00	\$12.12	\$1,066.5
		Locate existing property						
		monuments; complete as						
	1650	specified	Each	2.00	\$525.00	\$1,050.00	\$656.50	\$1,313.0
		Replace existing property						
		monuments; complete as						
	1652	specified	Each	2.00	\$11.00	\$22.00	\$35.35	\$70.7
		Remove and replace						
		HMA pavement;						
		including sawing; fine						
		grading; turf restoration;						
		and traffic control;						
	1904	complete as specified	Square Yards	188.00	\$80.00	\$15,040.00	\$93.84	\$17,641.9
	1701	Furnish and install 6"	oquare rarao	100.00	\$00.00	\$10,010,000	\$50101	<i><i><i><i></i></i></i></i>
		storm sewer; complete as						
	2000	specified	Linear Feet	40.00	\$110.00	\$4,400.00	\$251.49	\$10,059.6
	2000	Furnish and install 8"	Linear reet	40.00	\$110.00	\$4,400.00	\$201.49	\$10,039.0
		storm sewer; complete as						
	2001	-	Liners Fred	85.00	¢120.00	¢10.200.00	¢272.09	¢00.011.0
	2001	specified Furnish and install 24"	Linear Feet	85.00	\$120.00	\$10,200.00	\$273.08	\$23,211.8
		RCP Class III storm						
		sewer; complete as						
	2016	specified	Linear Feet	34.00	\$185.00	\$6,290.00	\$351.70	\$11,957.8
		Furnish and install 24"						
		RCP Class III apron						
		endwall with joint ties;						
	2144	complete as specified	Each	1.00	\$45,000.00	\$45,000.00	\$2,364.41	\$2,364.4
		Furnish and install						
		standard storm sewer						
		manhole (4' diameter);						
	2201	complete as specified	Vertical Feet	6.00	\$750.00	\$4,500.00	\$1,052.82	\$6,316.9

Contract 25-20 Storm Sewer L	aterals / Variou	us Locations (#9656257)						
Owner: Oshkosh WI, City of	T							
Solicitor: Oshkosh WI, City o	f							
Solicitol. Oslikosli VI, čity o	1							
Bid Opening: 05/19/2025 11:00	AM CDT							
Biu opening. 00/19/2020 11:00								
					Carl Bowers & Sor	ns Const Co. Inc	DE GRO	OT INC
					Call Dowels & Sol	is const. co., me.	DE GRO	01, INC.
				+ +				
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	item coue	Furnish and install 6"	Conn	Quantity	Chitrite	Extension	Child Fride	Extension
		storm sewer lateral;						
	2400	complete as specified	Linear Feet	680.00	\$105.00	\$71,400.00	\$283.06	\$192,480.80
	2400	complete as specified	Entearrect	000.00	\$100.00	ψ/1,400.00	\$205.00	\$172,400.00
		Furnish and install storm						
		sewer marker balls;						
	2404	complete as specified	Each	44.00	\$25.00	\$1,100.00	\$69.69	\$3,066.36
	2101	Furnish and install storm	Duch	11.00	φ=0.00	\$1/100100	\$05105	\$0,000,00
		sewer clay dams;						
	2406	complete as specified	Each	24.00	\$100.00	\$2,400.00	\$505.00	\$12,120.00
	2100	complete us specified	Duch	21.00	\$100.00	\$ =)100100	4000100	<i><i><i>q</i>12/120100</i></i>
		Furnish and install storm						
		sewer lateral inlet;						
	2408	complete as specified	Each	19.00	\$1,000.00	\$19,000.00	\$1,434.20	\$27,249.80
		Storm lateral inlet			+_/	+==)=====	+ -/	+=-,==-
		adjustments; complete as						
	2414	specified	Each	6.00	\$100.00	\$600.00	\$505.00	\$3,030.00
		Cleanouts; complete as			+	+		40,00000
	2418	specified	Each	8.00	\$650.00	\$5,200.00	\$667.61	\$5,340.88
		-1						1.,.
		Furnish; install; maintain;						
		and remove Type D						
		modified inlet protection;						
	2508	complete as specified	Each	100.00	\$100.00	\$10,000.00	\$90.90	\$9,090.00
		Furnish; install; maintain;						
		and remove stone bag;						
	2516	complete as specified	Each	100.00	\$10.00	\$1,000.00	\$20.20	\$2,020.00
		Furnish; install; maintain;						
	1	and remove 12" diameter						
		sediment logs; complete						
	2518	as specified	Linear Feet	20.00	\$10.00	\$200.00	\$18.18	\$363.60
		Furnish; install; maintain;						
	1	and remove turbidity						
	1	barrier; complete as						
	2526	specified	Each	1.00	\$0.01	\$0.01	\$3,535.00	\$3,535.00
		Furnish and install Class						
	1	I; Urban; Type A erosion						
		control mat; complete as						
	2632	specified	Square Yards	75.00	\$4.00	\$300.00	\$5.05	\$378.75

Contract 25-20 Storm Sewe	er Laterals / Variou	1s Locations (#9656257)						
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	ty of							
Bid Opening: 05/19/2025 1	1:00 AM CDT							
					Carl Bowers & Son	is Const. Co., Inc.	DE GROC	DT, INC.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install						
		medium rip-rap with						
		filter fabric; complete as						
	2648	specified	Square Yards	10.00	\$100.00	\$1,000.00	\$85.85	\$858.50
		Connect to existing storm						
		sewer main; complete as						
	2850	specified	Each	1.00	\$2,000.00	\$2,000.00	\$4,242.00	\$4,242.00
		Connect lateral to existing						
		storm sewer main;						
	2854	complete as specified	Each	17.00	\$500.00	\$8,500.00	\$4,242.00	\$72,114.00
	2001	Connect to existing storm	Euch	11.000	4000.00	\$0,000.00	\$ 1/2 12:00	<i>\$72</i> ,111.00
		sewer inlet; complete as						
	2858	specified	Each	3.00	\$500.00	\$1,500.00	\$4,242.00	\$12,726.00
		Storm sewer utility line				. ,	. ,	· /
		opening (ULO); complete						
	2914	as specified	Each	2.00	\$550.00	\$1,100.00	\$1,212.00	\$2,424.00
		Excavation special						
		(storm); complete as						
	2950	specified	Tons	50.00	\$40.00	\$2,000.00	\$20.20	\$1,010.00
Bid Total:						\$410,261.51		\$618,233.64